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1. N IRREAT Sy IR b RAT ARG YT 30T, FrEeHid o e/
HIOTA/ T2
(3T) IR AT ST AT TY TRATAT FER TRAH Bl ST
@) WFd ARG HSAdR ure T SIS ART HIUTATE <207d aF a9 e
ST A

TIET 39X
(1) oth A (2) Bh ¥
(3) 3T 3T § Sl (4) 37 37T & Srgrel ATl

In some cases, the central government forcibly terminates Indian citizenship. Which is/are
the wrong statement/s in that regard?

(@) The citizen has been ordinarily resident out of India for seven consecutive years.

(b) The citizen has been imprisoned for three years in any country within a period of five
years after acquiring citizenship by naturalisation.

Answer options

(1) Only a (2) Only b

(3) Both a and b (4) Neither a nor b

2. TR HRA ARG HISURBIA Wols TIRR AT -
(30 T AFIAIETAT SIS U AR
@) TATST ShAdT FAT HET g8 9.
@) A7 TRATT HTHHT Wal e 2[ehd ATeld.
(@ df AdER TUH A0S I .

T I
()3, 9, &, © Q) T, HE
(3) 3, 9, s 4) A, 9, 5

An Overseas Citizen of Indian (OCI) have not the following rights-
(a) He shall not be eligible for election as President.

(b) He shall not be entitled to equal opportunity in public service.
(c) He cannot buy property in India.

(d) He is not be entitled for registration as a voter.

Answer options

(1) a,b,c,d 2)b, c, d

(3)a, b, d (4) a, b, ¢
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3. Qo 99 [9eRid &m:
(37) HRATT ST APIRS d99 IRAS AR TAGe! Shl IFIAT JSTATSr 9T 377

o o

@) MREFT FIS THM TRIRE ITSS! ATh THTISTATST T 3.
TGN BT TG TIH TR

(1) % 3T ) &h &
SEEINERE) (4) 3T 3MTOT F Srgrer el

Consider the following statements :

(a) A person who is a citizen of India by birth as well as a naturalised citizen is eligible for
the office of President.

(b) In USA, Only a citizen by birth is eligible for the office of president.

Which of the above statements is not correct?

(1) Only a (2) Only b

(3) Both a and b (4) Neither a nor b

o Y o\ o Y o C 20N Y Y
4. HRATT ArSTYSHd AP [HodUAT Ycles Ul HPT HIP[do 3ATed-

(30 SF @) FEARIA

@) Feof (@) ¥

@ T RS F=oT (%) RTEEHOT

T I

) A, 9, h, S, 8 (2) A, 9, h, S, B

G) AT, H 3 (4) ITIRT ATET

The Constitution of India mentions following five ways of acquiring citizenship-
(a) By birth (b) By descent

(c) By registration (d) By naturalisation

(e) By incorporation of territories (f) By nationalisation

Answer options
(1) a, b, c,d, e (2)a, b, ¢ d,f
(3) a, b) c €, f (4) None of this
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5. RO ARG AETUT WTATSUhl hivTd [ T 31e?
(1) ARTREETET g IsTIeH=AT FHIAT AT AT 3Tl AT,
(2) AT ANRE AT =TT ARAT hoserl ATl IR APTRSATdT 88 el Ahi Al
faferer siofien qusiies wor 2 = feer e,
(3) AT H&H 5 T HH 11 TGS d3dal 26 AledaR 1949 IR JAGIA M.
(4) TRAT ged ANTR® Moot fhaT ITHTaor ATHeTd HIVTATE! aRdal SHRoardT ATIaR
AT 3T

Which of the following statement regarding Indian citizenship is not true?

(1) Citizenship is mentioned in the concurrent list of the Constitution.

(2) The Constitution does not define the word 'citizen' but the various categories of persons
entitled to citizenship are detailed in Part II.

(3) The provisions under Article 5 to Article 11 of the Constitution came into force from 26
November 1949.

(4) Parliament has power to make any provision regarding acquisition or loss of citizenship

in the Indian constitution.

6. I AU 3.
(1) IRART STEEAdI® APTRGETE! dRdg [SeTaT ARGzl ATa™ rEdd.
(2) ITHIERT, HTeT SMMTOT REIohS ST2MT TURTST YOG IeAT SR GRel ARTR e Tegd! Tarosd
TR
(3) HRART ARIRGAT HYOT S ARG JHH ASTehid T APRI ISR TR,
(4) TTYRT 7=

Identify the false statement.

(1) The citizenship provision in the Indian Constitution is analogous to citizenship of
Britain.

(2) The system of double citizenship adopted in the federal countries like USA, Canada and
Switzerland.

(3) Indian citizens have equal political and civil rights of citizenship all over the country.

(4) None of these.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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7. AT YRR WRATSAT e <AEEA FUHe AfTamraar god dRa—ar Riesid

HISAT?
(1) MSHFATY [T GTT T (2) HIEFE IRAT [T8g F T
3) =l e ooy RO doRsT (4) I T [T8eg IRAT FORTsT

In which case did the Supreme Court of India give for the first time the doctrine of 'basic
structure' of the Constitution?
(1) Golaknath vs. State of Punjab (2) Kesavananda Bharati vs. State of Kerala

(3) Minerva Mills vs. Union of India (4) Waman Rao vs. Union of India

8. VAT WA Hare TSI ¥ Ra-d da 3hliaRe?

(1) T. &, MITST FSaAT (1950) (2) HIEFE IRAT GEHT (1973)

(3) I T A (1981) (4) TMHHATT AT (1967)

In which case the Supreme Court adopted the principle of basic structure?

(1) A. K. Gopalan Case (1950) (2) Kesavananda Bharati Case (1973)
(3) Waman Rao Case (1981) (4) Golaknath Case (1967)

9. (3N WA FATGIAH GHd &8 Wedl a1 AaM @l ST haEFe YR "edrd
TIAT TG AT IBATAT Jealel Asade—=T Jovd dXa-d a3 hal,
@) A" AETSAH Haev[d WedT UM FSEAT ST Sie=T YT Weedrd TIH g
ATTHA YATSSIRTAT dedTaT JASTEe=T JAd AXa-d THTSST Hel.
T I
(1) Bh 3T TR (2) Bh ¥ SRS
(3) 3T MO § Gl SR (4) 3T MO T Sreel Ih

(a) The Supreme Court incorporated the principle of judicial review into the basic structure

of the Constitution for the first time in the Kesavananda Bharati Case which is also known
as the Fundamental Rights Case.

(b) The Supreme Court incorporated the principle of judicial review into the basic structure
of the Constitution for the first time in the Indira Gandhi Case which is also known as the
Election Case.

Answer options

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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10 T ARG horedl TeAIgewdl SEAHT Hare ARSI JH¥d dXa-d dd
TN s 3ATE.
(1) 24 TYH 1973 (2) 24 TUS 1976
(3) 3/ 1976 4) 3 7 1973

The Supreme Court has applied the principle of basic structure to constitutional amendment
enacted after
(1) 24 TUS 1973 (2) 24 TUS 1976

(3) 3 9 1976 4) 3 9 1973

11. WHIBURT DO TSI S AXa-d g ed?

(37) SO WA= T ATTsT @) ARATE ATHERYT FATSTEIS ET
@) JTgeHs HORTSHT &=y (@) ATISRIET frToft

@) HIAT T

ERIRIECIEE

(1) 3, <, S 2)d, <, S, 3

3) A, h, S g 4) A, d,h, ¢, 3

Which of the following are the elements of the basic structure of the Constitution?

(a) Freedom and dignity of the individual (b) Socialist nature of Indian polity

(c) Federal nature of the Constitution (d) Separation of powers

(e) Rule of Law

Answer Options:

(1) a, c, e 2) b, c,d, e
3)acde (4) a, b, c,d, e

12. VT eedTd AT RGN FaRTSIdE § ge-d Jovd IS Taedrs Aitide; e?
(1) T3ME-e IRAl "o (1973) (2) TH. TR, TS TSaAT (1994)
(3) TehT Y "R (1978) (4) ZHT TATE GeAT (1951)

In which case, does the Supreme Court emphasise that 'the Indian Constitution is founded
on the bedrock of the balance between the Fundamental Rights and the Directive Principles'?
(1) Kesavananda Bharati Case (1973) (2) S. R. Bommai Case (1994)

(3) Maneka Gandhi Case (1978) (4) Shankari Prasad Case (1951)

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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13. WISIGIHRN 3T fIam siresa.
(37) HTNTIR YiaRa-=T W9l GATG9R ShRvgRITe! S [SUaR 1948 A HINER Wid
AT ATYT Hl.
@) STATERASG AEF, TegHTE Uee SM0T TSt FaRI=T 8 a7 AHda a2,
@) IR 1953 T AR 7T TSR ol
(@) AT ISATAT GAA-ATST |IST 2T TR 9 bl ST Hal.
LEIRIIESES
(1) 37 3T § TR (2) H, ¥, & TG
(3) 3, ¥, § IR (4) TH F9 [TU TAE 3.

Identify the correct statements among the following.

(@) The Congress constituted the Linguistic Provinces Committee in December 1948 to
reconsider the question of language-base provincialisation.

(b) Jawaharlal Nehru, Vallabhbhai Patel and Pattabhi Sitaramayya were members of this
committee.

(c) In October 1953, the committee submitted its report.

(d) The committee officially rejected language as a basic factor for the reorganisation of
states.

Answer option

(1) a and d are correct (2) a, b, ¢ are correct

(3) a, b, d are correct (4) All the above statements are correct.

14. TSTTAT IATIATAR A 57 ST,

(37 AOTR @ B

() e @ feArees ezt
JIET I

(1) A-d-h-¢ (2) 8- - A- T

3) S- 3A-9- 5 (4) h- A-d9- ¢
Arranged in the correct order according to the formation of the states.
(a) Manipur (b) Tripura

(c) Mizoram (d) Himachal Pradesh
Answer options

(1) a- b-c-d (2) d-c-a-b

(3) d- a- b- ¢ (4) c- a- b-d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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15. 9RA & fomft Tsair sifammft J o, st Sivrar FoHidT WE g

(1) aH - 1 (2) HHH - 2

(3) HSH - 3 (4) FSH- 4
Which article states that 'India is an indestructible union of destructible states'?
(1) Article- 1 (2) Article- 2

(3) Article- 3 (4) Article- 4

16. WA AU [FERIT @,
(31) 1961 H MET, 0T 30T T NiST HRATET 7 TRl FRT GriSTishgT ST 31,
(@) TRTET GESATGHHAT ATAIH, 1962 =T AT FAMT g3 TS2MT ST 94T AT,
@) 1986 T TMATST HRATAIS TSI ISATAT 11 SuaTd STTAT.
() 2019 T SIS § TR §IST AMOT SHIT T 21F AT THATHIUT e I The hg 3N
T VAT AT,

RIFURT I [ s,
(1) Weh 3F ffor § (2) Th & AMOT
(3) eh 3F AfoT & (4) th & 3MOT ©

Consider the following statements.

(a) Goa, Daman and Diu were taken from the Portuguese in 1961 by police operation.

(b) Under the Twelfth constitutional amendment Act, 1962 these areas were given the status
of Union Territories.

(c) In 1986, Goa was given the status of the twenty-fifth state of India.

(d) In 2019, Dadra and Nagar Haveli and Daman and Diu were merged into one Union
Territory.

Identify the true statements from the above.

(1) Only a and b (2) Only ¢ and d

(3) Only a and c (4) Only b and d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



10 I HEd IRAR

17. WTHIBUh! gehrely T faamy 3 srord/dre
(37) I[STUEAT 14 7 GCHAIGSAT HIFST, 1962 TAR HSHH 239 A FANIE FoATT AT,
ATAR TE=RIATS! U= fehar Hi5HSes fohar S8l [FAT0T Shevam=r stk Quard 3.
@) 1991 =T 69 AT GSAGHHT HIFTER ISTISHd HHH 239 AA FHNTE I 3T,
T TG AT ST STATS] [T F ARl arag HRodrd el
LRIRIIEG R
(1) Wk 3T (2) Bh &
(3) 31 70T § grar @) AT, AT

Which of the following statement/s is/ are incorrect?

(a) Article 239 A was inserted by the 14th constitutional amendment Act, 1962, which
empowers to form a Legislative Assembly or a council of ministers or both for Padducherry.
(b) Article 239AA was inserted in 1991 by the 69th constitutional amendment Act, which
provided for a Legislative Assembly and a council of ministers for the National Capital
Territory of Delhi.

Answer options

(1) Only a (2) Only b

(3) Both a and b (4) Neither a nor b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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18. WISIGUHT 3T YA HIOTAT?

TR FHH

(37) ORI YeETE! 369 <aTad (i) 239 AB

@) IR U2Tdl® g

IO ST ST a3da] (i) 239 B

@) Aigssrer I e

3ITATSZT ST HROGTT WBMEHRET FTIHRR (i) 240

® [fEE JasT gz FEe

FHUTET AFIAET ATIRR (iv) 241
(CORNC)] h) ()

1) i i iii iv

(2) iv i ii iii
3) iii iv i ii
4) ii i iii iv
Which of the following is the correct option?
Provision Articles
(a) High Court for a Union territory (i) 239 AB
(b) Provision in case of failure
of constitutional machinery (i) 239 B
(c) The power of administrators
to promulgate Ordinances during recess
of Legislature (iii) 240

(d) Power of President to make

regulations for certain Union territories (iv) 241
(GO C IR CO RN C),

(1) ii i iii iv

(2) iv i ii iii

3) iii iv i ii

4) ii i iii iv

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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19. WSIGUDT AT U 3MesET.
(1) TISHT HezNHd TSSTeAT I19d SIS Hugrar AfAHR TR,
(2) TR T IS & HASAT LT hioTTe! [ITaTaR hIFaT e 2Tehl.
3) g TTIT =T Faes 9 gAdie 99 [uaiay Saer &% 2.
(4) JAPIAAT BFET T AN FREIR 92 a7 Fganad T GRmE-raer Hams
FRUGTET ATIRR IR,

Identify the incorrect statement among the following.

(1) Parliament has power to legislate in respect of Union Territories.

(2) The Legislative Assembly of Puducherry can make laws on any subject of the State List
and Concurrent List.

(3) The Legislative Assembly of Delhi can make laws only on all subjects of the State List.
(4) The President can make regulations for the good governance of Lakshadweep and
Andaman and Nicobar Islands.

20. TERTST YezmeT MHdr Jaiid Wioladh! ShivTdl 9 I 3Med?
(37) TTC3T IASTICI=AT HIBIA 1874 AH TRl &3 ST Toleg TUH ¥ATIT hey Ieh, ST
@) WIAAFAR IT IASTHT 90T & G 90T $ A7 WA ST 3.
() ATIAT eGSRl BT, 1956 MO T GAZEAT HEGT, 1956 AR Al TGS
JoaT UL IUTIAT henl o,
@) Fevrae e, AR, BaRr, WEiRW, SUmae WeIT STfoT AT AT qarsT RISy
YT ShATShA ST SSIT [SeT o,

T 39N
(1) A, &, h (2) 3 AT S
(3) & BT I (4) TS TT

Which of the following statements regarding the formation of Union Territories are true?
(a) During British rule, certain areas were constituted as 'Scheduled Districts' in 1874 which
later came to be known as ‘Chief Commissioners Provinces'.

(b) After independence, these states were placed in the categories of Part C states and Part
D Territories.

(c) They were constituted as Union Territories by the Seventh Constitutional Amendment
Act, 1956 and the States Reorganisation Act, 1956.

(d) Gradually Union Territories such as Himachal Pradesh, Manipur, Tripura, Mizoram,
Arunachal Pradesh and Goa were successively granted statehood.

Answer options

(1) a, b, ¢ (2) a and d

(3) All except c (4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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21. WOl [a =R =m.
(3) HSH 2 & TRAT FT=T FT ST T WTIE 4T [hal Tdle Seaiasdr e,
@) HAT 3 T YRAT ST 9FT TG TaT TS [Mq=asdT fhaT Teamassdr 3e.
T 3TR:
(1) Wk 37 3Ry (2) th & ANT
(3) SEIer TIT (4) Srerer T
Consider the following statements.
(a) Article 2 relates to the formation of or changes in the existing states of the Union of

India.

(b) Article 3 relates to the admission or establishment of new states that are not part of
the Union of India.

Answer Options:

(1) Only a is incorrect (2) Only b is incorrect

(3) Both are incorrect (4) Both are correct

22, TSTESHHAT T 21 AT Jele ASARISHTT T3 dRdal Hvdrd el 3Tad-

(37) oM @) AHETE
@) PSS (©) AR

® Em () HATST

T 3T

(1) 3, &, S, T 24, %S, 3 %
(3) & ITSAT I9 (4) TS T

Under Part 21 of the Constitution, special provisions have been made in respect of the
following States —

(a) Telangana (b) Tamil Nadu

(c) Nagaland (d) Manipur

(e) Sikkim (f) Meghalaya
Answer Options:

(1) a,cde 2)b,c,d, e f

(3) All except b (4) All of the above

23. 30SY YARIT HMET, 1956 30T ATAET GeAGHI ATAMIA, 1956 AR HRATd
T amfer RIS WezT FHToT HRoard e,

(1) 16, 3 (2) 14, 6

(3) 16, 4 4) 14, 4

According to the States Reorganisation Act, 1956 and the Seventh Constitutional Amendment
Act, 1956, states and union territories were created in India.

(1) 16, 3 (2) 14, 6

(3) 16, 4 4) 14, 4

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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24. 29 TTHR 1953 ST HISTa ST STANTRIT WYAT ST § A<aX 1955 T EARTH 3MIST
STEATEH TSR HeAT. AT TR GelGdhl hioTdl/r RBrerRey 3ft wdy T Al AT
(37) ST HTNER Wiaw=d ad 919 Thob.
@) Tk TSI, Tk T & FheqT RIBRS.
() HS Fedics JsTTd 4 APIAIS TIHOT I Hhos.
(@) 16 Tk IST 3IMOT 6 hezNiad Yozl [HHE0T HRogr BT shel gidl.

@) e =g FAiadRT Rty e

qIET 3TN

(1) ®th 3T § (2) ®h T

(3) HTH T (4) Th & M1 S

The Fazal Ali Commission was set up on 29 December 1953 and submitted its report in
September 1955. Which of the following recommendation/s was/were not given by this
commission?

(a) Accepted the principle of language as a basis for regionalization of states.

(b) Adopted the theory of 'one language, one state'.

(c) Abolition of four-fold classification of states and territories under the original constitution.
(d) It recommended creation of 16 constituent states and 6 Union Territories.

(e) Opposed the formation of Sikh state.

Answer option

(1) Only b and d (2) Only b

(3) Only e (4) Only b and e

25. WIS IRAFET ATAT IRATAS [SSHIRRUTIAR 99 e 3T
(37) SANTE- AEHA
@) ST SO FRAHR- IR
@) BITETE- AT HhIRETe

T 39Y
) F-FT-F QT -F-F
B FA-H-F R

Identify the following correct order according to the merger of following princely states in
India.

(a) Junagadh- By Referendum

(b) Jammu and Kashmir — By the Instrument of accession

(c) Hyderabad- By police action

Answer options

(ha-b-c 2)b-a-c

B3)a-c-b 4)b-c-a

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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26. WA SV Y37 TRATET 9T S96-

COREETR S RUEE
@) M7 3T TR &I (©) ar

() FHOT AT < (F) BT
T I

() TS 99 (2) 3, 9,8,3, %
B AT, %38, 3 4,7+ T3
Which territories became part of India after independence-

(a) Sikkim (b) Pondicherry
(c) Dadra & Nagar Haveli (d) Goa

(e) Daman and Diu (f) Lakshadweep
Answer Options:

(1) All of the above (2) a, b,d, e, f
(3)a b,c d, e 4 b, c, d, e

27. WSISIDI o [T SR T18r ?
(37) IFUArAT BIRRENRET Fa g M= g dues SvaRr TRRd dies
EICEIETICIE
@) IFIA 3T frdres Tvaed Aiewargdr AR weadmrs &g s Rftdesm smue
=R ATerad IS ety Uliest.
() HAS HdB (I3 TAAT HIIST HSR HE&T T ST FTAT He 2ehl.
(®) T TRATAT ST AR AIT TR TAT I5@ 20ehd Tal.
qIT 3T
(1) %h (2) HTh & AMOT
(3) HBh & (4) WTh 3T 0T

Which of the following statements is not correct?

(@) No bills for the formation of a new state shall be introduced in either house of
Parliament except on the recommendation of the President.

(b) The President before introducing the bill in the Parliament shall refer it to the concerned
State Legislature for its views within a specified time limit.

(c) Parliament can form a new state only by a law passed by a special majority.

(d) Parliament can not redraw the political map of India according to its will.

Answer Options:

(1) Only a (2) Only c and d

(3) Only c (4) Only a and d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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28. TR HEZEAT AT AT TISSHT [T/ HoTd/aT?
(37) T, . TR AT TATAETH! ST 1948 T VR IRBRA MR Wi STFRI= WIT=T
FST

(&) YATTes, ST TRTE0T @le; € AT AR Feed B,
@) TeHTR, 1948 T AN 3MIST EATS HTSR hol.

(€) HTST AT FehUdsil YRR AR Fidrdr -7 Hrdl, 3720 RIRRT T,

T 39T
() A, 9, sh, &
(3) Bh &

OEIEEIEIR
(4) Fh 3

Which statement/s is/are not true about the Dhar Commission?
(@) In June 1948, the Government of India appointed the Linguistic Provinces Commission

under the chairmanship of S. K. Dhar.

(b) Pannalal, Jagat Narayan Lal were members of this commission.
(c) In December, 1948, the Commission submitted its report.
(d) It is recommended that the reorganisation of states on the basis of administrative

convenience rather than linguistic factor.

Answer Options:

(1) a, b, c, d (2) None of this
(3) Only b (4) Only a
29. Y STl S]ddl.

I WTYAT a5

SRR (i) 1966

() & T (ii) 1972

&) SROMES TN (iii) 1975

ORREIL (iv) 1987
@ &) ) (9

(1) iv i ii iii

2) i ii iv iii

3) ii i iii iv

@ i i iv iii

Match the correct pairs.

State Establishment Year
(a) Meghalaya (i) 1966
(b) Haryana (i) 1972
(c) Arunachal Pradesh (iii) 1975
(d) Sikkim (iv) 1987

@ O © @
(1) v i ii iii
2) i ii iv iii
3) ii i iii iv
4 ii i iv iii
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30. HAH 4 HIATAT FaTad ATR?
(1) T 5T [FEToT HoT F TATAT IS &, AT ThaT A9 919 950 0T,
(2) FSH 2 T FHoH 3 AT ASTISHT hoves q80) TS ATAT TgHAT hes STl
(3) IeAT BIY BT YTH &M AR ehed
(4) TTIHT TR,

What does Article 4 relate to?

(1) Formation of new states and alteration of areas, boundaries or names of existing states.
(2) Amendments to the Constitution under Article 2 and Article 3 shall be passed by a
simple majority of the Parliament.

(3) Citizenship at the commencement of the Constitution

(4) None of these.

31, 102 ST geATgSwl ATAMIH, 2017 TAR GeHd RO TG HR0ATd AT0?
(37) IS ANTRAGINT TN GeTHE ST SUATATST HH 338 (B) AT T hoHTHT JHTS ST
FROATT 3T
@) HAH 342 (A) DT T T hezAd Tesngdics AT T 21870 ARTEeRF=r arar
IR HROATY 3TUhR HHSHT 20dTd 37T
@F) FAH 366 (26) (C) T AHISTH T 2IEAOTHESAT ARTHSI T ARAT FHRIAT AT,
qgTEy IR

(1) Tth 37 o1 & (2) Th 3T IMOT §

(3) <h A (4)3T,33ﬂ'f&f55

What changes were made in the Constitution by the 102nd Constitutional Amendment Act,
2017?

(@) A new Article 338 (B) was inserted to give constitutional status to the National
Commission for Backward Classes.

(b) Under Article 342 (A) the Parliament was empowered to prepare a list of socially and
educationally backward classes in the States and Union Territories.

(c) Socially and educationally backward class was defined under Article 366 26 (C).
Answer Options:

(1) Only a and ¢ (2) Only a and b

(3) Only a (4) a, b and ¢
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32. OEAIGHRl [TUARNTIIT WIGIGUST ST TG g 3TTe?
(1) YRAN GeATgSa! Jegid ITe0T AMTheheAT AsTde-qd RaFRS! e,
(2) ISHHAT 9FT 20 AU FHH 368 T TeAIGSHAT HI0ATHT AHHT ATUHR AMOT JT=T
gk AT 3.
(3) TG [AUTehI =ATATSATd AR T I Tl
(4) TITYT TR

Which of the following statements regarding the Constitution Amendment Bill is incorrect?

(1) India has adopted the process of constitutional amendment from the constitution of
South Africa.

(2) Article 368 of Part 20 of the Constitution states the power of Parliament to amend the
Constitution and its procedure.

(3) Constitutional amendment bill cannot be challenged in court.

(4) None of these.

33. WIBIGUH! BT FeATgHdl Jsqge-<ar ART - [ =7 iadid Id ATeia?

(30) el geATgHr ATAIH, 1956 () TETEr eGSR ATAfIH, 1961
(&) IRMET FeATgHEI AT, 1962 @) FiemET gegEwr A, 1962
@) ASET FeATgHxT ATATIH, 1966

gt 3R

(1) s 3mfor g 2 A3

(3) A, T, F, T3 (4) ITIRT ATE

Which of the following Constitutional Amendments does not come under Part - I of the
Constitution?

(a) Seventh Constitutional Amendment Act, 1956

(b) Tenth Constitutional Amendment Act, 1961

(c) Twelfth Constitutional Amendment Act, 1962

(d) Fourteenth Constitutional Amendment Act, 1962

(e) Eighteenth Constitutional Amendment Act, 1966

Answer Options:

(1) d and e (2) a, d, e

(3)a, b,cd,e (4) None of these

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



19 AT HEd IRAR

34, 39 JISTYSHST 9T 22 T AT 394 (A) IT TG HHTET FHIEET Hd aal
ATYdTe ATUHd IsqgedT diqg hRoard el
(1) 42 &7 geATgSEr AT, 1976 (2) 70 9T GeATgEE! ATAHTH, 1992
(3) 58 o geATgHEl ATAIH, 1987 (4) 56 9 geATgHEl AT, 1987

provided for an official Constitution in the Hindi language by inserting a new

Article 394 (A) in Part 22 of the Constitution.
(1) 427 Constitutional Amendment Act, 1976
(2) 70™ Constitutional Amendment Act, 1992
(3) 58™" Constitutional Amendment Act, 1987
(4) 56™ Constitutional Amendment Act, 1962

35. WTSIGUD T [uT Hiore?
(1) 11 3 FeATgEwT A=A, 1989 T I& FATGATAT TR T 60 TTEHT 62
(2) 61 ST geATgEwl ATATTTH, 1988 7T AAGRIS 99 21 FuIGE 18 AT HXoATd ol
3T,
(3) 70 AT GSATGHwI ATATA, 1992 =T gl T Tg=l [quraT J<gi= Igarean
FaevhTST MaTam Hesid AT hvdrd 31T
(4) 94 ST UEATGEIl ATUMIH, 2006 FIT TREES T BARPISATS! ACARIT HedToT HAT
TAHET ARE HRoATd ol

Which of the following statements is incorrect?

(1) Under the 11" Constitutional Amendment Act, 1989, the age of High Court Judges was
increased from 60 years to 62 years.

(2) Under the 61t Constitutional Amendment Act, 1988 the voting age was reduced from 21
years to 18 years.

(3) Under the 70" Constitutional Amendment Act, 1992, the members of the Legislative
Assembly of Delhi and Puducherry were included in the Electoral College for the election
of the President.

(4) Under the 94" Constitutional Amendment Act, 2006 provision was made for appointment

of Tribal Welfare Minister for Jharkhand and Chhattisgarh.
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36. 91 AT UGSl ATIMIH, 2003 FT ISTISHAT HIVTAT HSHTH &G H0ATd ATSHT?

(31) hH 74 ) HAH 75
(h) hAH 163 (S) ShHH 164
() A 361 B () ¥ 105
T I

(1) 3, F, T @S, 3
(3) A, &b, & @3 %
Which Articles of the Constitution were amended by the 91st Amendment Act, 2003?
(a) Article 74 (b) Article 75
(c) Article 163 (d) Article 164
(e) Article 361 B (f) Article 105
Answer option

(1) a, c e (2) b, d, e
3 acf (4) b, d, f

37. WRAT JsT9ed 4247 GeAGHwl ATIFIH, 1976 TAR WIS GUh! HIOTAT ARG daiT
THTIZT HROGTT 3MAT 3MR?
(3N FHEM T  HASATTS Jhd daT
@) I[S9, I9F, <51, T IreAT IEdldio [SYHAT HHT H.
@) 3TRNTTR FaRUTIAT HEFTRIET TEHNT JHTET HRor
() TITIROT FEIOT T HTYT (0T I T TSI T&T0T 0T,
CEIRIIESEEE
(1) 3,9, &,
DERE:D
(3) A, F, €
4) I, 9, €

Which of the following Directive Principles has been included in the Constitution of India
by the 42™ constitutional amendment Act, 1976?

(a) Equal justice and free legal services

(b) State will reduce inequality in terms of income, status, opportunity.

(c) Ensuring participation of workers in industrial management

(d) Protection and conservation of environment and safeguard forest and wildlife.

Answer option

(1) a, b, ¢, d (3) a, b,

(3)a,¢cd 4) a, b, d
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38. WSSie [Au =R @ snfor 9 gair et
(1) ¥IRATd, FeT G&¥dl 9% hacdh AFIATAT J9-IRaTHI Aaa e dAige) S 2Teh.
(2) TR TS TH¥AT FROATRATS! T2 TeAT THT 379
(3) IR TdTh TeATgHw I [T G -qII3l T JSIT<AT [ATaHSHIGR ATadT [HeoT
ATTTH A,
(4) TH I [TU TR 3.

Consider the following statements and choose the correct option.

(1) In India, a constitutional amendment bill can be introduced in the Parliament only with
the prior permission of the President.

(2) In U.S.A, there is a special Constituent Assembly to amend the Constitution.

(3) In U.S.A., every constitutional amendment must be ratified by at least two-thirds of the
state legislature.

(4) All of the above statements are correct.

39. WSB! HIUTAT RIS T PTG AAH (92T Tgad AT e faw
T[Sl AT SgHATE! TSR THA?

(37) ST ST TTIR @) Uk 7 gdies SiodE =
SERESIGREIERINEIRE] (@) FaE ATHT 0T I IHATHT
@) FHT 368

LRIRIIEG R

(1) 31 BT I (2) € TBAT I

(3) & ST I9 4) 3,9, %, T, T

Which of the following provisions requires a special majority of Parliament and also with
the consent of half of the state legislature by a simple majority.

(a) Use of official language (b) Any of the list in seventh schedule
(c) State representation in Parliament (d) Supreme Court and High Courts

(e) Article 368

Answer option

(1) All except a (2) All except d

(3) All except c (4) a, b, c,d, e
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40. 4491 geATgERAl AT 1978 SR WIAIGUS HIVTAT ARGl HRoATd AT ATed?

(37) MM AR Teh WAl HHIOT FHRUATEE ddg HRoard e,

@) AHesH e A TswaT GAEERT URd urefaugrar IPUaT SITIHR Ut ST,
(@) TS ATOTETONAT I TG 20 IMMOT g 21 1T BAI Ao YA TTRR
M HaT IUR AR 130T TRAg oA ATel,
igﬁgﬁﬁaﬁmyﬁﬁWﬁmw@Wkﬁwmmﬁ:

(1) 31, § oy & (2) 31, § Afor ©

(3) T<h & ST & (4) Th 3T JMOT ©

Which of the following provisions were made by the 44th Amendment Act of 1978?

(a) Provided for the creation of the All India Judicial Service.

(b) Empowered the President to send back once, the advice of the Cabinet for reconsideration.
(c) Provided that the Fundamental Rights guaranteed by Article 20 and Article 21 cannot be
suspended during the National Emergency.

(d) Constitutional amendments were kept outside the scope of judicial review.

Answer Options:

(1) a, b and ¢ (2) a, b and d

(3) Only b and ¢ (4) Only a and d

41, TGSl OISl HIvTET 6T ST ea?
(37) FASAT HIVTATE! IR TeATGHw! [d9dsh HAEX Hdl Id.
@) HIS HAl & [TdTs e F% 3rhdTd.
@) T TS FHAT TS e e U0 Aed WSS dgHae AT SuRAd
HAaT FROTAT ASRTAT IF-Jaizl qgaae J9d a0l ATTTH TR,
@) 42 o geAgEdl ATATH, 1976 F==T APTA geAIGHEl [TUIRRT AT J07
TYTHRE HIvTd S IATE.

T I
A9, (2) 3T 30T &
(3) 3, 9, % “4) 3,49,

Which statements about the Constitutional Amendment Bill are true?

(a) The constitutional amendment bill can be introduced in either house of Parliament.

(b) Only the Minister can introduce the Bill.

(c) The Bill must be passed by each House of Parliament by a majority of the total number
of members in the House and two-thirds majority of the members present and voting.

(d) The 42" Amendment Act, 1976 has made it mandatory for the President to assent to
the Amendment Bill.

Answer Options:

(1) a, b, ¢, d (2) a and c

() a, b, ¢ 4) a, b, d
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42, WO [T =R &1 ST 106 A7 GeATgodl AT, 2023 HAaHl T (9T HoTr?
37 g 99 TR ZRhr 9o [9dgs | seds S,

@) 28 TR 2023 ISl APIAT & [T JAad Thos.

() IT IS AT IASTISHAS HHH 239 AA T TR H0ATT ATl AT HoaH
330 A, 332 A T 334 A B A9 ShaH Isg9ed T FHIAE HRogTd ATol e,
@) I FEATEAR A6, TAH IArEl [TIFERTET ST0T A8 era =l &7 [agr=ar

IR THUT STOTTYRT Tk JdiaieT SO 15 aNiTel AeaITe! JIME 3quarEl ada

3E.

T 3TN

() A, , &, S (2) 3T 3AMOT 8
(3) A, &, (4) 37 3NfOT &

Consider the following statements and which are the correct statements regarding the 106"
Constitutional Amendment Act, 2023?

(a) This Bill is known as Nari Shakti Vandan Bill.

(b) The Bill was passed by the President on 28 September 2023.

(c) Under this amendment, Article 239 AA of the Constitution has been amended while three
new articles namely Article 330 A, 332 A and 334 A have been included in the constitution.
(d) This Act provides for one-third of total seats in the House of the People, the Legislative
Assembly of every State and the Legislative Assembly of the National Capital Territory of
Delhi to be reserved for women for 15 years.

Answer Options:

(1) a, b, ¢, d (2) aand d

(3) a, ¢, d (4) a and c
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43, 42 St GeATgHwl ATATH, 1976 FX WIAHIGIHRT HIVTAT ARGl HROATT T ATRd?
(mwﬁﬁwmwﬁquﬁ%ﬁwmﬁmﬁﬁ,
3720 ARG AT ATl
@) IS IRA™T =1 AT AT RO e HoATd el
@) HTHHAT 8 & hddd hI3R ATTRR HUATT AT,

@) F2retor, 9=, Il T 9alt A TREA0T, I T AIY MO AHIRIAT WIRIA, AT
3 AT TTdl A I9 ARSI Hded J AT 8 e [y 359 gAige

AT gAHEoETd 3T,

T 3N

() 3, 9, h 2) 9, %, S

(3) A, T, (4) 3, H, S

Which of the following provisions have been made by the 42" Constitutional Amendment
Act, 1976?

(a) Extended the one-time duration of the President's rule in a state from 6 months to one
year.

(b) Provision was made for creation of All India Judicial Service.

(c) The right to property was made a mere legal right.

(d) Shifted five subjects from the state list to the concurrent list, viz., education, forests,
protection of wild animals and birds, weights and measures and administration of justice,
constitution and organisation of all Courts except the Supreme and High Courts.

Answer Options:

(1) a, b, ¢ (2) b, c, d

(3) a, b, d 4 a, c, d

44. 104 97 ICHIGEI AT TS TG Alaal.
(31) 104 ST GTATGEAT AT, 2021 FTTT BIHAAT T 9 [TIFANAIG AT ST,
I STHTAT JTARITST SART 3TRETOT T&T TN JTeaugrd 37Te.
@) T FESHAIGERAT AP IoTdedIG TS 351 T TS 553 TTRvT AT, AT ATa
334 A el ATIvdTd 3Tl

Wﬁﬁ%{:
(1) ®h I TEX ) T F TR
O EEUENER (4) T=T TH

Identify the correct statements regarding the 104th Constitutional Amendment.

a) Under the 104" Constitutional Amendment Act, 2021, the reservation of seats for
Scheduled Castes, Scheduled Tribes in the Lok Sabha and State Legislative Assemblies was
extended by ten years.

(b) Under this Constitutional amendment Act, Article 331 and Article 333 of the Constitution
were repealed while Article 334 was amended.

Answer Options:

(1) Only a is correct (2) Only b is correct

(3) Both are correct (4) Both are incorrect
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45, HIITAT TEATGHIGR RS TS Tadad RIoe STIad STaiTers STRET0T 38
FHIOT 3HTH?
(1) 73 AT GeATgSEl ATAFTH, 1992
(2) 57 9 geATgSEl ATAHIH, 1987
(3) 83 AT FeATgSwIl ATAFFH, 2000
(4) 84 9 geATgHwIl ATAHIH, 2001
Reservation for Scheduled Castes in Panchayats was abolished in Arunachal Pradesh by
which constitutional amendment?
(1) 73 Constitutional Amendment Act, 1992
(2) 57 Constitutional Amendment Act, 1987
(3) 83" Constitutional Amendment Act, 2000
(4) 84™ Constitutional Amendment Act, 2001

46. 2001 <AT 84T YTHIGEHT HEUATIAR IrT TN ST
(37) AT AT 2026 TS BIhAHT T TTUTHTHT HAGRAGTHT G Shosl ST AATET 3720
RIS XTI M TR,
@) qT ST AASR AT ATl AT HRUGRITST 2001 ST SRT0HET TR
IAA SR, IN3Nel aRdg HoATd AT,

Wﬁ}ﬁi’:
(1) &h F T Q) &F F I
(3) Ierer A (4) SEIEr TN

Identify the correct statement about the 84™ Constitutional Amendment Act, 2001.

(a) Under this Act, it has been provided that Lok Sabha and state legislature constituencies
will not be reconstituted till 2026.

(b) It was also provided that the 2001 census would be taken as the basis for delimitation
of constituencies in the states.

Answer options

1) Only a is correct

(2) Only b is correct

(3) Both are correct

(4) Both are incorrect
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47. ATATISTS STIOT 2rATOTREST AP ST FSHA AT 2021 =T 105 AT GeATgHedl
FIATTIAR TG TG/ = HIOT/Ar?
(31) 105 ST FEAGSAT I HTUHTAT ATTET 338B, 342A AT 366 AT AT HAHHAE
TR hoi.
@) T 342 (A) ATd YIS T Tohar heznfad UIMeT AT |d:T ggansr
TSI SO 2afoTeheseT ARG S9El Il daR SHRogrEr NfoT g TR
IO T 3R,
(@) ITET 366 (26) (C) AT HHISTH F 2NeTOThesT AR AT HROATT AT,
T 3T
(1) W<k 37 30T & (2) W<h 3T 3MMOT §
(3) eh 3T (4) 31, F OT &
Which of the following statement/s are correct about 105" Constitutional amendment act,
2021 related to socially and economically backward classes?
(@) The 105™ Constitutional Amendment Act amended three articles of the Constitution
namely Articles 338B, 342A and 366.
(b) Under Article 342 (A) every State or Union Territory is empowered to prepare and
maintain a list of socially and educationally backward classes for its own purposes.
(c) Under Article 366 (26) (C) definition of socially and educationally backward class is

prescribed.

Answer Options:

(1) Only a and c (2) Only a and b
(3) Only a (4) a, b and ¢

48. HIAFE RAT WeodTd HarE A™FTGAH SMd IRa-d Jeic gesh ikl ed-
(37) ST FHRYE T
@) FEASHES, HAGRT [THNT T ATTHGRYT Iid ATTRRET 9ot
($) - -
@) oY g T ArIesis ded AT S JRTadr
@) 2 AT F ThlHdT

T 39N

() A, 9, h, 2) 3,49, 3

3) A, 9,8 3 4) A, d,h, ¢, 3

In Kesavananda Bharati case, Supreme court has stated the following elements of basic
structure-

(@) Secular nature of the Constitution

(b) Division of powers between legislature, executive and judiciary
(c) Judicial Review

(d) Balance between fundamental rights and directive principles
(e) Sovereignty and integrity of the country

Answer Options:

(1) a, b, c, e (2) a, b, e

(3) a, b,d, e (4) a, b, c,d, e
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49. WIAHGUDRN RIVTAT ARG HAH 368 AT HETaTe Jdrd-

@) IRREE 1 @) IR vV

@) IR VI () IRRTE VIII

@) 9T FESITl HAweTT arefder

LRIEIIGEEE

M3, s g (2) 3, 9, ¢

3) 3, 9,4, S 4) A, d,h, S, S
Which of the following provisions fall outside the scope of Article 368-
(a) Schedule II (b) Schedule V

(c) Schedule VI (d) Schedule VIII

(e) Conferment of more jurisdiction on the Supreme Court
Answer Options:

(1) a, d, e (2) a, b, e
(3)a, b, c,d 4) a, b, ¢, d, e

50. 2002 =T 86 AT “-lC"H%Q‘N‘(‘ﬂ HIIAT HIOTRIOTAT hAHI g DRUYTd HATAT?

(37) haAH 21 A () hAH 45

@) FST 51 (A) (11) OEREE]
T I

(1) oh S (2) Th 3T AMMOT &
(3) ®h & (4) Wth 3T 3MOT §
Which articles were added by the 86™ constitutional amendment act, 2002?
(a) Article 21 A (b) Article 45

(c) Article 51 (A) (11) (d) All of the above
Answers Options:

(1) Only d (2) Only a and ¢
(3) Only b (4) Only a and b
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